"EXALODEDVIEW

€000 TEAMLGH, INC

A-0840
A-1022
A-1109
A-1116
A-1146
A-1150
A-1610
A-1615
A-1620
A-2006
A-2007
A-2104
A-2127
A-2142
A-2164
A-2166
A-2216
A-2903
A-2905
A-2906
A-2909
A-2920
A-2921
A-2922
A-2923
A-2925
A-2927
A-3014
A-3015
A-3065
A-3066
A-3083
A-3090
A-3099
A-3123
A-3132
A-3135
A-3912
A-4002
A-4003
A-4004
A-4019

TEAMLOSPERFORMANCE

XXX-NT Truck Kit with BEariNgS........ccoevrvrerirvrirerriirereesrsenns $

Front Axles for XX-T Wheels (GTX, NXT, XXX-T) ......... $6.00
Front Shock TOWer (XXX-T) c.cccceeereieerereineseeisisesssesnennnns $6.00
Front Suspension Arms (XXX-T) ..ccccceveeeeeereeeereeens $7.50
Front Outer & Kingpins 3/32" (XX, ‘CR’, XXX, XXX-T). $3.00
Front Outer Hinge Pin (XXX-T) cccceieeeeieeereeeereennnns $3.50

Steering Hardware Set........ccccooeevrieneee.
Short Ball Cups and Threaded Rod.......................
Steering/Servo Mount Assembly (XXX, XXX-T)..
Swivel Suspension Balls .250" (8) .......

Hinge Pin 1.42" (XXT, XXX, XXX-T) .cceoeerrerrrereienenenns $3.00
Rear Shock Tower (XXX-NT) ...cocceeemeeeneereeerererenenns $6.50
Rear Pivot BIOCK (XXX-NT) c.cceeereieerereieieieieieeesseesinnnnns $3.50
Rear Suspension Arms (XXX-NT) ..ccccoorennierrienienennnens $8.00
1/8" Upper Bulkhead / Outer Rear Hinge Pin (2) ........ $3.00
Inner Rear Hinge Pins (XXX, XXX-T) .ccoroeiniieereenes $3.00

Rear Hub Spacers (.050") (4WD)............
“Monster Diff” Drive Rings (XXX-NT) ......
“Monster Diff” Male Outdrive (XXX-NT).........
“Monster Diff” Female Outdrive (XXX-NT) ............
“Monster Diff” Adjustment Screw & Hardware .....
XXX-NT Trans Case Set & Brake Clips .....cccccc.....
XXX-NT Trans SCrew Set ........ccccooicovreierieicierereee e
XXX-NT Slipper Shaft Gear & Hardware
XXX-NT Center/Brake Shaft & Hardware
XXX-NT “Monster Diff” Gear Only ......ccccoceevrereereeneenee
XXX-NT Compound Gear & Brake Hub ..........ccc........
Universal PiVOLS (2) ...cccoeovieeinereiieeseeeee

Rear Axle, Spacer, and Pin (1) .............

Silicone Differential Compound ....
Teflon™ Assembly Lube....................
XX Yoke & Screw for Doghone (2) ......cccceeeeeeeneeereenereenee
Dogbone Drive/Shaft w/Yoke (XXT, NXT, XXX-T) ........ $8.50

Full Compliment Thrust Bearing Set .........cccocevreveirirnnas $5.00
SHPPEr Pad......cocoiiiieieeee e
Slipper Backing Plate

Slipper Spring, Cup, Retainer & NuUt.......c.ccooceireiennne $3.00
Spur Gear, 51 Tooth , 32 Pitch (XXX-NT) ccooeeriinene $3.50
Antenna Kit ..o

Antenna Caps (8) ....
Servo Tape (6) -.oceveereenereereecrieneeeens
XXX-NT Aluminum Chassis

NOT RESPONS| BLE FCR TYPORAPH CAL ERRTRS

A-4021
A-4027
A-4030
A-4118
A-4125
A-4126
A-4137
A-4160
A-4224
A-5013
A-5015
A-5017
A-5022
A-5023
A-5030
A-5031
A-5046
A-5047
A-5050
A-5152
A-5224
A-6000
A-6001
A-6003
A-6005
A-6006
A-6030
A-6038
A-6040
A-6100
A-6101
A-6102
A-6204
A-6206
A-6210
A-6215
A-6216
A-6220
A-6223
A-6227
A-6228
A-6229

Hfective Juyl, 2000
AL PRI CES SUBJECT TOCHANGE WTHOUT. NOTI CE

CHOICEOFCHAMPONS

Center Chassis Brace/ Tank Mount (XXX-NT) ...............
Trang/ Chassis Brace (XXX-NT) .cocorierieiniennieieieeeeneenens
Battery Box & Rx Cover Set (XXX-NT) .ccooiveiiiieniiene
Front Bumper, Motor Guard, & Body Mts. (All XXX) ....... $6.50
Front Spindles/Carriers, and Rear Hubs (XXX-T) ......... $7.50
Front and Rear Pivot Block Set (All XXX) ccovriirieiiiienne

Aluminum Front Inner Pin Brace (all XXX).....
Kickplate, Bulkhead, & Steering Brace (NT)
Threaded Chassis Inserts - Short and Long
Front and Rear Upper Shock Mount Bushings (XXX,T) $3.00
Double O-Ring Shock Cartridge ........cccocevvererrirerrrinene, $2.00
1.0" ShOCK Shaft ...

1.2" ShOCK Shaft ...

Spring Clamps & Cups (2)
.9" Shock Body, Hard Anodized .........c.cooeiieieiiinencene.
1.2" Shock Body, Hard Anodized .........cccooeovinneneinnnnne.
Teflon™ Shock Pistons #56 (Red) (4) .........
Teflon™ Shock Pistons #55 (Orange) (4)
Shock Spacer Set......ccoveeieneieneineieeeeene
2.5" Spring 2.6 Rate (Red) .....ccooeeevenenennee
Team Losi Certified Shock Fluid 30 wt ......
Ball Studs w/Rod Ends 4-40 x 3/8" (4) ........
Ball Studs w/Rod Ends 4-40 X 3/16" (4) coeoevreieneieenene
Foam Things (Linkage RiNgs) (24) ..ccocoroeieeiveineieenn
H.D. 30° Plastic Rod Ends (16)

Ball Studs w/Rod Ends 4-40 X 1/4" (4) .covoeieeeveneeieene $3.50
Assembly Wrench (Version 2) .......cccccovveonoeneienennennens $1.50
Adjustable Threaded L/R Rod Set w/ends (2.25") ........ $4.50
Adjustable L/R Threaded Rod w/ends (2.50") ............... $4.50
E-ClIPS 1/87 ..ot $1.25
E-CliPS 3/16” .ottt $1.75
C-clips, 3/16" - Large (12) c.ccceeeeererereeerererseseesessesessssssnnns $1.75
4-40 x 1/2" Cap-Head Screws (10) ..cccoceeeeeereierenencnienns $1.50
4-40 x 3/8" Cap-Head Screws (10) ..ccccceveeereienenenenienns $1.50
4-40 x 3/8" Flat-Head Screws (10) ......cccoovrerererirenenenienns $1.50

#4 Narrow Washers (10)
4-40 x 7/8" Cap-Head Screws (10) ....cccceeeeeneierencneninnns
4-40 x 1/2" Flat-Head Screws (10) ......cccoorererenirecnenienns
4-40 x 1" Cap Head Screws (6) .........
4-40 x 1/8” Hardened Set Screws.....
5-40 x 1/8" Hardened Set Screws.........
4-40 x 3/8" Button-Head Screws (10)




e
A-6300 - /

A-6206
A-6206 A-621N
té A-931N

A-ZOOG/(Q

A-6230 Shim Assortment - 3/16", 1/4", 1/2" (20) .cccovevvererercennne $2.50 A-6907 5mm X 8MM BEANGS ....cccovriririririeinrieieireseee e $6.50
A-6233 4-40 x 5/8" Flat-Head SCrews (10) .....ccccoevrevveerereeenennnn $2.50 A-6908 1/2" x 3/4" Ball Bearings wi/Teflon Seal (2) ...covvveeeee. $13.50
A-6236 2-56 x 1/2" Button Head SCrews (8) ......ccccoveerererererennne $2.50 A-6951 3/32" Carbide Diff Balls (12) ...cccccocvrrreririririsirsirisisiniens
A-6237 8-32 x 1/8" Hardened Set SCrews.........cccoveevirerieeneninens $2.50 A-7055 Front Solid-Face Truck Wheels (Yellow)

A-6300 4-40 Hex NULS (10) .cooveeireririeiririeieesisieieeseseiee e $1.00 A-7155 Rear Solid-Face Truck Wheels (Yellow)

A-6303 10-32 Locknuts (4ea Nylon & Steel) (8) .ccovveervvreecrenne $1.50 A-7505RFront DIRECTIONAL Tires (Red) w/Foam Liners ........ $17.95
A-6305 4-40 Aluminum Locknuts, Low Profile (10) ........cccccuvunee. $3.50 A-7636RRear STEP-PIN Truck Tires (Red) w/Foam Liners....... $17.95
A-6306 4-40 Aluminum Mini NUtS (10) ...ccooeieievieiseeseieeseeeenes $3.50 A-7698 Truck Foam Liners - Firm .....ccccoooveiiveieniieeseeseeesienns $3.50
A-6350 #4 and 1/8" Hardened Washers........cccoorreeienrecnennnns $2.50 A-8024 Truck Body w/Window Masks (XXX-NT) ..cccccerrvernnennes $19.95
A-6400 Pins, U-JOINt (8) ..cevveerriririreriiirisisisisisisisisisesiseseses s $1.25 A-8200 BOdy ClipS (12) ..cooveeeeiriririeieieieieieieieieieieieieresseseseesesesesenenas $1.25
A-6401 Pins — Wheels and Gears .........cccccevvveienneeninenieeeniens $1.25 A-8346 Logo Sticker Sheet (XXX-NT) .oooorrriirrnieenneneenesieenes $4.00
A-6406 1/16" Pin Assort. - 5/167, 3/8”, 7/16” (All) «coveviririccenne $2.50 A-9302 Paper Air Filter Element ........cccovieiennneinneeessieeeee $3.00
A-6903 3/16" x 3/8" Teflon™-Sealed Bearings (2) .....ccccovvevreene $5.50 A-9303 Foam Pre Filter

A-6906 1/4" x 3/8" Flanged Ball Bearing.........ccocevevrvecrennennns $12.00 A-9304 Air Filter Boot (RUBDEN) .....cocveiiiiiiiccec $2.50



:

A-5023

A-9310
A-9313
A-9315
A-9317
A-9321
A-9325
A-9327
A-9328
A-9330
A-9336
A-9362
A-9369
A-9370
A-9372

Fuel Tank (75 CC) .ovvvrreeierreeirse e $12.00
Fuel Tank Mounting Set.........coeoreeiininineinneeeseseeens $3.00
Fuel TUDING (247) oot $2.50
Exhaust Manifold Gaskets (4) .....coeoevrerreennseenerenieenes $2.75
Raised Exhaust Manifold & Connector Set .................. $14.00
Silicone Exhaust Coupler Tubing .......cccovveeiiinccieninenes $2.50
Exhaust Stinger & Stinger Sleeve......ccoovvieienincnene, $2.50
Tuned EXhaust Pipe ... $20.00
Pipe Mounting Bracket w/ Hardware...........cccccooevevenene. $3.00
XXX-NT Engine Mount Set w/ Hardware...................... $12.00
Machined Teflon™ Clutch Shoes w/ Spring.........c.cce..... $9.00
CIULCH NUL .

Clutch Nut ClipS.....ccccovvieune.
Flywheel w/ Pins

A-9375
A-9376
A-9380
A-9381
A-9382
A-9383
A-9409
A-9410
A-9411
A-9413
A-9415
A-9941

Flywheel PiNS/SCreWs .......ccoveiiniiieiiirieennseeesesieens $3.00
Flywheel Collet W/ ShimS.......ccccevrinnnennieeeeeeeeienns $3.00
17 Tooth Clutch Bell - Machine Cut (All) ..o, $9.50
18 Tooth Clutch Bell - Machine Cut (All) ..o, $9.50
19 Tooth Clutch Bell - Machine Cut (All) ..o, $9.50
20 Tooth Clutch Bell - Machine Cut (All) ...ccceveveererennnnn. $9.50
Throttle Return Spring & Eyelet ......cccoovveiiiniciniicne $3.00
Throttle/ Brake Linkage Set (XXX-NT) ...cccoovrrviireninennns $11.00
Disk Brake Rebuild Kit (XXX-NT) ..ccoovvriiimiririreinininenens $9.00
Disk Brake Rotor (XXX-NT) ..cccoerrreiriririeennesieeneneseenenes $4.00
XXX-NT Servo Mounts, Arms, & Switch Mount .............. $4.50
Bearing Spacer/Wheel Washer ... $9.95



SENT 4 =

Always Racing Towards The Future.

13848 Magnolia Ave., Chino, CA 91710, 909.465.9728
fax: 909.590.1496 « www.TeamL osi.com ¢ feedback@TeamL osi.com

800-0154

Optional Parts For

A-5055
A-5056
A-5062
A-5064
A-6012
A-6013
A-6912
A-9710
A-9714
A-9722

the Triple-XNT Truck

.9” Threaded Shock Body Set W/NULS .........cccvevenenenee. $19.95
1.2" Threaded Shock Body Set W/NULS.........ccceennene. $19.95
1.2" Titanium Nitride Shock Shaft .......cccocovvniinnniienene, $7.00
1.0" Titanium Nitride Shock Shaft .......cccoovvniinnnieenn, $7.00
Rod Ends, Bright Yellow (Long & Short) ........cccceeevvvevnene. $6.00
Rod Ends, Bright Blue (Long & Short) .......c.cccceeeveveuennee. $6.00

3/32" x 3/16” Bearings for Steering (XX, XXT, XXX,T) $19.95
Graphite/Composite Front Suspension Arms (XXX-T)$12.00
Graphite Kickplate, Bulkhead, & Brace (XXX-NT)...... $16.00
Graphite/Composite Front Shock Tower (XXX-T) .......... $9.95

A-9811
A-9823
A-9832
A-9926
A-9940
A-9945
A-9946
A-9947
A-9962

Graphite Rear Suspension Arms (XXX-NT) ..ccccceeeeeene. $13.95
Graphite/Composite Rear Shock Tower (XXX-NT) .....$11.50
Graphite Rear Pivot Block (XXX-NT) ..ccccovvverrrririnnns $6.00
Aluminum Dogbone/Drive Shaft (XXT & XXX-T) ......... $10.50
Aluminum Hardcoated Suspension Balls...........cccc...... $3.95
Titanium Ball Studs .188" w/ Rod ENdS.......ccccceceurerennene $9.00
Titanium Ball Studs .250" w/ Rod ENdS.......cccccoceurenennne $9.00
Titanium Ball Studs .380" w/ Rod ENdS.......cccccocueurenennene $9.00
Graphite Center Chassis Brace (XXX-NT) ..cccccocevereene. $17.00



